800E PRO HIZRBMEETE

Primary hole position designed for T-REX 700E/700E DFC/800E PRO DFC
R3L{UBAR : T-REX 700E/700E DFC/800E PRO DFC

O o = o D=

M3 Washer M3 Set screw Socket screw
M3z [ x4 13848 x L

800E PRO Landing skid
800E PRO 22

M3 Set screw
M3IERERAS M3xdmm

Skid pipe end cap
HRISERERE

M3 Washer
3 W. Socket screw
M3 BN RRA

Landing skid nut
4ox09xTmm Maxtomm WRRE

Apply aitle amount of T43 thread
loc i .

Skid pipe , When fixing a metal part.
WRBE 09x325mm SHRIREREBEEERTSRHND)

Skid pipe end cap
BB

\_ Pt
(T — — -

The drilling hole position suitable for T-REX 700N DFC/800E TREKKER ADDITIONAL TOOLS )

$230,3L47 38R : T-REX 700N DFC/800E TREKKER ;;&:Ilgksp FOR ASSEMBLY
For T-REX 700N DFC/800E TREKKER models, please refer to below drill the
hole by using ¢ 3mm drill tool.
T-REX 700N DFC/800E TREKKER i » #5&& F@IST2I1E - (BF ¢ SMILTRRETMIL - Drill

MR O 3mm x1

Drilling locations are here
LA

Drill
W 3Imm

. J

G20441 2014.May.09



